3 Choose the right answer:

B The beach is

than the park.

= The laptop is

than the pencil .

I The museum is

than the cinema.

than Peter.

i Tom is

= The rabbit is

than the lion.

q The castle is

than the house.

I Sam is
-

0 The shop is

than Ann.

than the house.

I The park is

than the beach.

= The house is

than the castle.

| Complete the sentences:
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I The park is

than the beach. (crowded)

The laptop is

than the cinema. (historical)

I The museum is

than the park. (crowded)

than the pencil . (expensive)



Tom is than Peter. (sad)

The rabbit is than the lion. (small)

The castle is than the house. (frightening)

The house is than the castle. (frightening)
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Sam is than Ann .(shy)
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The shop 1s than the house. (old)
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